Supplementary figure S1. Frame format of our assessment tools for body fluid composition
Supplementary figure S2. Frame format of the redistribution of sodium-free fluid accumulation based on the baseline fluid volume balance between the intra- and extracellular water in men
Abbreviations: ICW, intracellular water; ECW, extracellular water; TBW, total body water; BMI, body mass index

Some examples are provided. (1) A healthy man with the following characteristics: height, 170 cm; weight, 64 kg; BMI, 22.1 kg/m2; %fat, 17%; and ICW/ECW ratio, 62:38. The lean body mass = 64 × 0.83 = 53.12 kg and the TBW = 53.12 × 0.733 = 38.9 L (60.8 % in body weight). The sodium-free fluid accumulation of 3 L is redistributed as 1.86 L and 1.14 L in the ICW and ECW, respectively. (2) A fatty man with the following characteristics: height, 170 cm; weight, 87 kg; BMI, 30.1 kg/m2; %fat, 35%; and ICW/ECW ratio, 63:37. The lean body mass = 87 × 0.65 = 56.55 kg and the TBW = 56.55 × 0.733 = 41.4 L (47.6 % in body weight). The sodium-free fluid accumulation of 3 L is redistributed as 1.89 L and 1.11 L in the ICW and in ECW, respectively. (3) A lean man with the following characteristics: height, 170 cm; weight, 53 kg; BMI, 18.3 kg/m2; %fat, 15%; and ICW/ECW ratio, 60:40. The lean body mass = 53 × 0.85 = 45.05 kg and the TBW = 45.05 × 0.733 = 33.0 L (62.2 % in body weight). The sodium-free fluid accumulation of 3 L is redistributed as 1.80 L and 1.20 L in the ICW and in ECW, respectively.

Supplementary figure S3. Frame format of the redistribution of sodium-free fluid accumulation based on the baseline fluid volume balance between the intra- and extracellular water in women
Abbreviations: ICW, intracellular water; ECW, extracellular water

Several examples are provided. (1) A healthy woman with the following characteristics: height, 160 cm; weight, 56 kg; BMI, 22.1 kg/m2; %fat, 24%; and ICW/ECW ratio, 62:38. The lean body mass = 56 × 0.76 = 42.56 kg and the TBW = 42.56 × 0.733 = 31.2 (55.7 % of body weight). The sodium-free fluid accumulation of 3 L is redistributed as 1.86 L and 1.14 L in the ICW and the ECW, respectively. (2) A fatty man with the following characteristics: height, 160 cm; weight, 77 kg; BMI, 30.1 kg/m2; %fat, 40%; and ICW/ECW ratio, 63:37. The lean body mass = 77 × 0.60 = 46.20 kg and the TBW = 46.20 × 0.733 = 33.8 L (43.9 % in body weight). The sodium-free fluid accumulation of 3 L is redistributed as 1.89 L and 1.11 L in the ICW and in ECW, respectively. (3) A lean man of with the following characteristics: height, 160 cm; weight, 47 kg; BMI, 18.3 kg/m2; %fat, 20%; and ICW/ECW ratio, 60:40. The lean body mass = 47 × 0.80 = 37.60 kg and the TBW = 37.60 × 0.733 = 27.6 L (58.7 % in body weight). The sodium-free fluid accumulation of 3 L is redistributed as 1.80 L and 1.20 L in the ICW and in ECW, respectively.

